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Note (1 All questions are compulsory.

(i) The question paper consists of 30 questions divided into four Sections ‘A%, ‘B, ‘C" and
‘D’. Section ‘A’ comprises of ten questions of 1 mark cach, Section ‘B’ comprises of five
questions of 2 marks each, Section *C" comprises of ten questions of 3 marks each and Sec-
tion *D’ comprises of five questions of 6 marks each.

(i) All questions in Section ‘A" are to be answered in one word or sentence or as per the exact
requirement of the question.

(tv) There is no overall choice. However, internal choice has been provided in one question of 2
marks each, three questions of > marks cach and two questions of 6 marks each. You have
10 atiempt only one of the aliematives in all such questions.

(v) In questions on construction, drawing should be ncat and exactly as per the given
measurement,

(vi) Use of calculator is not permitted.
(vi) Start from the first question and proceed to the last. Do not waste your time over a question
which you cannot solve.
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(SECTION-'A’)

. fasr o e fem fvu qarge 6 oRig G=m 20 /343 @1 I TER GG £ AT SRR Snad

§7 1
Without performing long division method, statc whether the rational number 29/343 is a terminating
decimal expansion or a non-terminating repeating decimal expansion ?

2. f3UW WU x2 - 16 T TG A BT | 1
Find the zcroes of quadratic polynomial x# — 16.

3. e aHiiew qH, qx + by +¢,=0 3w wx+by+e,=0 P FIq AR TUH UF AR dad
TF & g 81 & dfoa fafag | 1
Write the condition for a pair of linear equations a;x + byy + ¢, = 0 and azx + b,y + ¢c; = 0 has
consistent and on¢ and only one solution.

4, AR A 0.6.1.7.28, @ 1581 Ug ST DA 1
Find 15™ term of AP, 0.6.1.7. 2.8, _ _

5. R Profida "Rl &y f5U sin? 25° + sin? 65° F1 A4 FgY | 1
Without using Trigonometric tables determine the value of sin® 25° + sin? 65°.

6. UF U @ fao & &g 6v3 A &) U9 & e Fansy | 1
The length of diagonal of a cube is 6+/3 cm., find the volume of the cube.

7. TEEE B uRafa B | 1
Define *Mode’.

8. TS f4d B IgHU IVTA o & | Ad 3 B wRiear @ g@rf ? 1
A coin is tossed at random. What will be the probability of getting head ?

9. faz ¥ DE | BC & EC §1 ifo | 1
In figure; DE || BC. Find EC.

10. 0 g P 9 U® g0 W WH W1 A @i 8 W0 AN P A G B b G Q10 w0 1 g9 A
frm s o | 1
From a point P. the length of the tangent to a circle is 8 cm. and the distance of P from the centre of
circle is 10 ¢m. Find the radius of circle.
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(SECTION - ‘B")

1. A 60 7d0 917 @ 40 sin2 A = 2sinA Ga £ ? 2

For which minimum value of A, sin2 A = 2 sin A is true ?

12.@%@%@'(x1.y,)ﬂ%{a§lﬂml 2

Find the distance of the point (x, , y,) from origin.

13.3 W0 o &1 v@ qu it 3iiv @ swe Rl R w et Y dift | 2

Draw a circle of radius 3 cm. and then draw a tangent at any point of it.

14, Frafefes e gm & sl R 9 291 difte- 2

Give solution by graphical method for the following pair of equations -
2x+y—-6=0;4x-2y-4=0

15. U6 URY 1 IG7001 Gd I & | U5 RwH G@n wrd st @ g s @ 2

—_
o

17

18.

231 (HAH) [3]

A dicc is thrown at random. Find the probability of getting an odd number.
3HIdqT (OR)

12 T 12 4 TG et 4 3 @ 09 a5 Per o #) Peer T 9 8 e 8
& A s A

A pen is drawn at random from a mixture of 12 defective pens and 132 good pens. Determine the
probability that the pen taken out is good one.

s - ¥
(SECTION-C")

C2x* -3x3-3x2 +6x -2 & 3w T T PR AR o 8 =W V2 Ak —vE T

g 3
Find all other zetoes of 2x* — 3x3 — 3x2 + 6x - 2. if you know that two of its zerocs are
1 -

v2and —VZ.

0 3N 50 & 919 faeHl fawn war § | o= Rvg geei & 3 o B |

How many odd numbers are there in between 0 and 50 and find their sum.

L}

s A s qelRon a1 s @ wiamst 135 3R 225 @ HCF 3\ 3

Using Euclid’s division algorithm, find HCF of the numbers |35 and 225,

HYqT (OR)

Rrg #ifSm vZ t auRdg wam &

Prove that v2 is irrational.
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wira i 6 @ g A (5,-2), B(6,4) IR € (7,-2) Wigarg Brfw aBC & 9 & 3
Check whether points A (5,—2), B (6.4) and C (7, —2) are the vertices of an isosceles triangle ABC.

fagll (~3. 10) T (6, -8) P PraM T YEREvS P g (-1, 6) o oo  fnnfom avan &2 3
In which ratio the point (—1, 6) divides the line segment joining the points (=3, 10) and (6, -8) ?

afy tan(A+B)=v’§:tan(A-—-B)=—% e 0°<A+B<90°, A>B, T ATI B B IF I
MY | ) 3
If tan(A+B) = V3 ; tan(A-B) = % where, 0° < A+ B <90°, A > B, then find the valuc of A
and B.

I (OR)
frg #ifore £, 1+secA  sin®A

Prove that, secA 1 - cosA

5 o, 6 Tflo AR 7 o Femedl @ 1 Pryw A @ I AR w3 B @ = At
foreet ffomd faU g0 Prfa & & ma sfasi A 2/3 T ) 3
Draw a trianglc with sides 5 cm., 6 cm. and 7 cm. Then construct a triangle whose sides are 2/3 of
the corresponding sides of the given triangle.  hytp://www.ukboardonline.com

QA HANTE U QU] &1 %A 306 & | WEIR qaTsT 3
The product of two consecutive positive integers is 306. Determine the integers.

TS oA A AR M O wek g0 | ot g€ #1 o0 &1 45 ¥¥o Prow aren ve woE o A
JU, SHB! QA BHAG T b G B A T PRI (1 = 3.14) 3

An umbrella has 8 ribs which are equally spaced. Assuming umbrella to be a flat circle of radius 45
cm., find the arca between the two consecutive ribs of the umbrella. (m = 3.14)

g §h0 x 6 ¥ho WY T F AT UF g B =wra dran waqT 2,
v 5 faa  Rarn o &) swifea wm & &% sa difg |
(mr=3.14)

A rectangle measure of 8 cm < 6 cm, is inscribed in a circle as
shown in figure. Find the area of the shaded region. (7 = 3.14)

IR4T1 (OR)

QA T APl 0ACB B 0 AR BT 35 W0 T UF g @ aquty 2 > A
afe op=2 ¥ 2 & BTifda WM P &TEE T A |

In figure OACB is a quadrant of a circle with centre O and radius 3.5 cm.
If OD = 2 cm,, find the arca of the shaded region.
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qE - T
(SECTION-‘D')

T e B g A - 1 1 11 6
Solve the following cquation - T+4 x-7 30°% +—4,7

HYqT (OR)

F1 IR 80 WeX @ ET%A 400 TR & T G BT g1 A WG & ? IE &1 a1 S e
3R dierg s P

Is it possible to design a park of perimeter 80 meter and arca 400 m’ ? If so, find its length and
breadth.

I FM F 1F I3 ¢TI € AR T F W 39 WE S N & 5 U3 @ Rem e @1 g
T 2 R §HS W 30° B B T £ 0% B UR-fag At g, T U3 & Rw oA @1 w
2 8 MR 71 U2 A HAg T A0 6
A tree breaks duc to storm and the broken part bends so that the top of the tree touches the ground
making an angle 30" with it. The distance between the foot of the tree to the point where the top
touchces the ground is 8 meter. Find the height of the tree.

ffafl ae7 0P AR & Tl @ S WaEd qui ) e vewd T8 B @ g9 angRen

f S BT 6

The following distribution shows the daily pocket allowance of children of a locality. The mean
pocket allowance is T 18. Find the missing frequency £.

— — — S— -_

< Sawd [ ) _ 1113 | 13=15 | 15-17 | 17-19 | 19-21 ‘21—23 23-25 |
. Daily pocker allowancee (in¥) ' J
- : - R

Number oi children ’ 1 ° P E I t L ’ || ) ‘

FE T 0F TEA W B @R F 8 RE TR 16 e 09 FARd # | e & arg
14 ¥i0 ¥ AR 39 [ a6 (TH) A oo Fu1g 13 Vo B | THGT ARG UK EEHA I A | 6
A vessel is in the form of a hollow hemispherc mounted by a hollow cvlinder. The diameter of the
henusphere is 14 om and the total height of the vessel is 13 cm. Find the inner surface arca of the
vesscl.
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30. fig Aif & 1@ wwem e & wf &1 of am < w3
& U B EIR BT 81 30, AT ABC vo wHiRarg Pr # o
C PV Y ¢ o ey 5, AB? = 24¢2 |
Prove that in a right angle triangle, the square of the hypotenuse is
equal to the sum of the squares of the other two sides.
Now, if ABC is an isosceles triangle right angled at C,

Show that AB? = 2AC2. A
YAl (OR)

fig AR 5 ol 31 wva Y1 o B @t @ sl &1 v m
rqar § ferfera el € o 98 Y Al o @ R e 2
T T B T B g0 REET R P ABc A <1 ol AB
9 AC S 77 45 9 D 4 E & & BC=2DE

Prove that if a line divides any two sides of a triangle in the same
ratio, then the line is parallel to the third side. Using the above

theorem in a triangle ABC., if D and E are the mid points of sides AB
and AC respectively. Show that BC = 2 DE.
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